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Topic/Skill Definition/Tips Example
1. Integer A whole number that can be positive, _30.02
negative or zero. o
2. Decimal A number with a3 decimal point in it. Can be
positive or negative. 37,004, 2407
3. Megative A number that is less than zero. Can be
Mumber decimals. —8,-2.5
4. Addition To find the total, or sum, of two or maore
numkers. 34247=12
‘add’, ‘plus’, sum’ oN
& Subtraction | To find the difference between two o
numkbers. —
To find out how many are left when some 10—-3=7 l:l_:
are taken away. |
‘minus’, ‘take away’, subtract’ CILJ
&. Can be thought of as repeated addition. o)
Multiplication Ix6=6+6+6=18 e
‘multiply’, ‘times’, ‘product’ S
7. Division Splitting into equal parts or groups. 20+=4=7 =z
The process of calculating the number of —
times one number is contained within % -5 +
another one. 4 c
-
‘divide’, ‘share’ S~
B. Remainder The amount ‘left over' after dividing one = The remainderof 20 = 6is 2, because & E
integer by another. divides inte 20 exactly 3 times, with 2 4(_-6
. | | left over. E
9. Multiple The result of multiplying 2 number by an | The first five multiples of 7 are: |
integer.
The times tables of 2 number. 7.14,21,28,35 o0
10. Factor A number that divides exactly into another | The factors of 1B are: E
number without a remainder. 1.2.3.6,0.18 §£
It is useful to write factors in pairs The factar pairs of 18 are:
1,18
2.9
3.6
11. Prime A number with exactly two factors. The first ten prime numbers are:
MNumber o )
A number that can only be divided by itself 235711.13,17.19,23,29
and one.
The number 1 is not prime, as it only has
. | one factor, not two. |
12. Prime A factor which is a prime number. The prime factors of 18 are:
Factor
2.3
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13. Product of | Finding out which prime numbers multiply i = Y I
Prime Factors | together to make the original number. - i or Px3
Use a prime factor tree. 1 9
Also known as ‘prime factorisation’. L 1
14, Sguare The number you get when you multiply a @ 1, 4, 9, 16, 25, 36, 49, 64, 81, 100, 121,
Mumber number by itself. 144, 169, 196, 225...
. | | 92 =9 x 9 = 81
15. Sguare The number you multiply by itself to get Y36 =6
Root another number.
because 6 = & = 36
The reverse process of squaring a number. N
16. Solutions Equations involving squares have two Solve x? = 25 %}
tox? = .. solutions, one positive and one negative. —
x=3orx=-5 l:l_:
This can also be written as x = +5 IL
17. Cube The number you get when you multiply a | 1, 8, 27, 684, 125.. Q
. Mumber | number by itself and itself again. | 2 =2x2x2=8 _g
18. Cube Root | The number you multiply by itself and f_-'125 =5 S
itself again to get another number. =
because 3 x5 x5 =125 .-
The reverse process of cubing a number. :
19. Powers The powers of 3 number are that number  The powers of 3 are: c
of... raised to various powers. )
=3
. S~
i-=49 n
3 =27 <
3% = 81 etc o
=
Try these ... I
1 ‘Work out 03
a 147+363-15 (q0)
b 373=20 Q

¢ Find the cost of 3 shirts costing £8.95 cach.
2 The temperature in a freezer should be -12°C.
a During a power cut, the temperature in Bill's freezer went up by 15°C. What was the new
temperature?
b The temperature in Ahad's new freezer is 20°C. When he switched on the freezer, the
temperature fell by 2°C per hour.
How many hours did it take for the freezer to reach the correct temperature?
5 a Between which two whole numbers does "rill'e?
b Between which two whole numbers doesV100 jig?

6 Bill changes his torch battery every 55 days. Asfa changes her supertorch battery every 30 days.
Cne morning they both put new batteries in their torches. Use prime factors to find when they
would next both change their batteries together, assuming they used their torches at the same
rate.

9 Work out the difference between &° and 142
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Topic/Skill Definition, Tips
1. Area The amount of space inside a shape. g
Units include: mm2, em?, m? @
2 Areaofa Length x Width '
Rectangle
oN
. | A = 36cm? o
3. Areaofa Base x Perpendicular Height —
Farallelogram Mot the slant height. — =
I
I
| ! . Q
4 Areaofa Base x Height = 2 E
Triangle S
C)
>
5. Areaof a Kite | Split in to two triangles and use the method C
abowve. ©
(49)
Q
o
<<
oN
B. Area of a {ﬂ+bj><h +
Trapezium 2 S
"Half the sum of the parallel side, times the S~
- ; 16 ¢ . -
hElEhtbetweentthn.Thatl_t. how you calculate A * 4 = 550m2 2
the area of a trapazium” ] o+
7. Compound A shape made up of & combination of other 1)
Shape known shapes put together. E
|
(o/0]
| -
8. Volume Violume is a measure of the amount of space 4 8
inside a solid shape. // 11 >
Units: mm?, cm®,m? ete. d
L
"5 Valume of 2 V = Length x Width % Height -
Cube/Cuboid V=L=xWxH .
3 om
You can also use the Wolume of a Prism formula v
far a cube/cuboid. Som*
wolume = 65 55 3
- 0 o
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| 10. Prism la prisim is a 30 shape whose cross section is the I
same throughout.

Section the way through the prism.

11. Cross The cross section is the shape that continues all u_.

12 Volumeofz | V= Areaof Cross Section x Length

Prism V=A4A=L b

Lmg N
%}
Try these |:|
1 Find the area of :Il:
a) the triangle : b} the parallelogram Q
' =
- S

| 4.¢m
Sem —
’ =

O
©
Becm C
2 The measuremants of this polygon are given in cm. _ ©
7 eim (q0)
= dcm L
a) Write the name of the shape. —
b} Work out its area using the formula for this shape. 1% em <<
oN
3 The measureaments of this cuboid are given in cm. 4
C
| 2em D)
.rl'I __________ - \
| _.f’ f.Bem 7))
- <
14.2em -+
Find the volume of this shape. Make sure to include the units in your answer. g
4 Complete the missing measuraments. |

c0
a) Im= eeemceemtaeemimeenasanenee CITL o
b} 8500 mi= SO 1 =11 (O
C)} 4tonnes = vervemmnemeeamseramresmeces KE >q_)

d} 2.4 litres = ST 11 &

5 The valume of a cube is B4 em. Find the length of its edge.

b Find the surface area of the cuboid

Acm
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Topic/Skill
1. Types of Bar
Chart

Definition/Tips
Compound/Composite Bar Charts show data
stacked on top of each other.

Example

sl Flairdas
“:I: |h-_‘|. [ |
ComparativefDual Bar Charnts show data side | e
by sidi. a
0t
{ Jan Fab '-urﬂ-' ey
2. Pie Chart Used for showing how data breaks down into -
, , * Bapasay A
its constituent parts. S I
(| po
i T
‘When drawing a pie chart, divide 360 by the ) ;7 . ;
total frequency. This will tell you how many T g0 Y
degrees to use for the frequency of each L,
category.
Remember to label the category that each If t:ere are 40 IFI:'::'F'IE '“;;””_E'g tgf”f
sector in the pie chart represents. each person wi ?wnn 50+-40=5" 0
the pie chart.
Dhuestion: Complede the I vy talids helow
3. Two Way A table that organizes data around two e B T Tarai |
Tables categories. Hew ] iE
Lnxls
Tutal [ £ | 10
Fill out the information step by step using the Amimi: Stop 1 Gl il e eay paicts {the betal
. . . Lestt Blmted Paghr Hamded Taral
infarmation given. B 10 [ Fi ]
Chxls 42
Taital I8 EX] [
Make sure all the totals add up for all columns Anrwer: Step 2, Bl gur the remaining parts
Ll Handed Rl Hawided Taial
and rows. Bavs i) [ SR
Lnsli ] L E;-] 4. |
Tulal Ia £ |1

4. Correlation

Correlation between two sets of data means
they are connected in some way.

There is correlation between temperature
and the number of ice creams sold.

5. Positive As one value increases the other wvalue
Correlation increases.
6. Negative As one value increases the other wvalue
Correlation decreases.

Magnrrve L oarra s o

7. Scatter Graph

A graph in which values of two variables are
plotted along two axes 1o compare them and
see if there is any connection between them.

Statistics, Graphs and Charts — HT1 & 2

Year 8 — Maths / Unit 3
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8. Line of Best

A straight line that best represents the data on

values there are.

Fit a scatter graph. L m g
Ea |
9. Outlier A value that ‘lies outside’ most of the other m _ ;
values in a set of data. . % T
An outlier is much smaller or much larger than s -
the other values in a set of data. o
I L
1]
1] I 40 [2o [ 1] Ly
10. Types of Qualitative Data - non-numerical data Qualitative Data — eye calour, pender
Data Quantitative Data — numerical data
11. Grouped Data that has been bundled in to categories. Font lempih, 1, (em) Number of chlliris |
Uata 10 f=12 3 |
Seen In grouped frequency tables, histograms, . - =
cumulative frequency etc. Bt =) .
12. Mean Add up the values and divide by how many Themeanof 3,4,7,6,0,4,610s

3I+4+7+6+0+4+06

Statistics, Graphs and Charts — HT1 & 2

7
13. Mean from 1. Find the midpoints (if necessary) lleu_fili in | Freguency -‘f'hliw:' | q—"g M| |
a Table 2. Multiply Frequency by values or midpoints o ,','_'_:', o T :',,'_!”__
3. Add up these values i< h= 40 3% f-35=210
4. Divide this total by the Total Frequency Fonal " |8
Estimared Mean
If grouped data is used, the answer will be an ll'z’EL“- 430+ 14 =
estimate. 18.73cm
Try these ... .
o
1. The table shows the results of a 7-a-side football tournament. =
C
Mumber of goals scored 0 1 2 3 7 D)
Mumber of teams B 4 4 3 1 ~
(%)
a) Calculate the mean number of goals scored. £
(4°]
2. This two-way table shows the results of a survey about the amount of pocket money some children 2
recaived per week Complete the table
|
O=g=1 1=E£5 S<E£=10 Taotal 00
Boys 25 48 o
Girls 11 15 8
Total an 10 >

b} What type of comelation does the scatter graph show?
2ki bood sizes in 2 class

-
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L= = =]

Y i

_,
2 3
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Topic/Skill
1. Square
Mumber

Definition/Tips
The number you get when you multiply a
number by itself.

Example
1, 4,9, 16, 25, 36, 49, 64, 81, 100, 121, 144,
169, 196, 225...

92 =9 x9 =81

2. 5guare Root

The number you multiply by itself to get
another number.

The reverse process of squaring a number.

V36 =6

because 6 x 6 = 36

3. Solutions to
2= ..

Equations involving sgquares have two

solutions, one positive and one negative.

Solve ¥ = 25
=5orx=-5

This can also be written as x = +5

4, Cube Mumber

The number you get when you multiply a
number by itself and itself again.

1,8, 27,64, 125..
22 =2%2x2=8

5. Cube Root

The number you multiply by itself and itself
again to get another number.

The reverse process of cubing a number.

V125 =5

because 5 x5 x5 =125

6. Powers of...

The powers of a number are that number raised
to various powers.

The powers of 3 are:

Index Law

or letter), add the powers.

am W an = ﬂm+n

=3
=9
3* =27
3" =81 etc.
7. Multiplication | \hen multiplying with the same base (number 75 3 73 = 78

al? x n = a'?

437 x 2x® = gy13

8. Division Index

When dividing with the same base (number or

157 +15% =152

Law letter), subtract the powers. T x? =7
20a'! < 5a? = 44"
.ﬂm = ﬂn — ﬂIFI:—I'!
0. Brackets When raising a power to another power, (¥?) = y1o
Index Laws multiply the powers together. (63)* = 612
(@™ = g™n (5x%)% = 125x8
10. Notable |
Powers §n :i'i'l 99999° = 1
1. Solve To find the answer/value of something Solvelx —3 =7
Use inverse operations on both sides of the | Add 3 on both sides
equation (balancing method) until you find the 2x =10
value for the letter. Divide by 2 on both sides
x=5
2. Inverse Opposite The inverse of addition is subtraction.

The inverse of multiplication is division.

Expressions and Equations — HT1 & 2

Year 8 — Maths / Unit 4
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Try these __.

1 a)i Write2x2=2=2x2asapowerof2
it Work out the answer to part a i.
b) i Write nto the power of 3 in index form.
ii Write this as a product .
2 Solve these equations.

a g+4=11

5
b) 3=3

3 Solve these equations.

a) 7v-2=19
3w
b) 3 =24

4  Write and solve an eguation to find the size of angle x.

N
od
—
I_
I
|
(7p]
(e
i)
)
(qv]
>
O
L
©
c
©
(7p]
(e
i)
)
(7p]
Q
o
o
X
Ll
<
s
c
>
S~
(7p]
e
)
©
|
(00]
(-
o
>—




